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Microeconomics

1. {10 points] Please use no more than three sentences to detine and compare efficiency and equibibnium
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2. [5 points] The following picture shows the average cost curve of a firm. Please copy the picture to your

answer sheet and draw the corresponding marginal cost curve on it.
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3. Please draw a picture to demonstrate how the short-run supply curve is determined [2 points]. Use this
picture and additional pictures if necessarily to explain when long-run supply curves can be increasing

[4 points]. Use one sentence to explain the intuition (please underline your answer) {4 points].

~|4. Draw a picture to show when a monopoly can make zero profit {5 points]. Use one sentence to explain

the intuition (please underline your answer) [5 points].

5. [10 points] Will a very risk-averse person invest in a risky asset? Please give the answer as rigorous as
possible.

6. [5 points] Most people think that being a drug dealer eamns a lot of money. However, in freakonomics,
one of the New York Times Bestseller, Steven Levitt finds that most of the drug dealers earn less than

the minimal wage. Explain why this can be possible. Limit your answer to within three sentences.
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